Solutions: Current Affairs Quiz 332

:I sanskritiias.com/pt-quiz-solutions/current-affairs-quiz-332

Q1.

AERTSCR & FRIST THEM & 3N ®Y A HHSIR a7 (EWS) 3TREI0T & Tad Al T 8, $HPb HaH
¥, fFrforRed weMl R AR SifoR-

1. S TEd AMUD TY I HAGR FRIST FHEE & ford I Neifores Fam=i § 10% o1 RETT
feratRa fopar mam 2 |
2. 3 VY WRPBR & T Pt S arelt fciat & ford off A foram <o |

ST 3 9 B e w B
1. Sae 1
2. %ael 2
3. 13k 2 3

4. 9T 1982

The correct answer is: 2

Solution:

IR: (b)
qreET

* FERTCR H FRIGT FHE Bl ST HY | HASIR 371 (EWS) TRET0T o Tad o T4 & |
N 4 SeaaH ed A I SR eiforr WU | fUse av & ford ArpRal g R
¥ 3TRET Pl FHNG B T o1 | ORI BRI WRBR & o1 wR1aT 1 nfdfep w

FAAR I Y TRETOT T ATH AT AV §am 2 |

* IRBRN TR &b IR 3.0, U9, & ATG S| Pl U1 = 1ol Alk] fedHe&adh
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IRl Y Brex eiforn e § 10% AReT0T P ford uraR 8nm |
* 39 9 WRBR & Ted B! A dreft 1t o for +ft Ay fopan Seem, e 3 diser
JRETTT F FHUR I S |

T RPR, HU 1 el &, Tafp HU 2 I 2 | o: e (b) T TR E |

Q2.

H10N3 Tfaa= gt & de #, fFrferRad wemi wR e #im:

1. I ‘THAGSN T IR’ T oh SUIRPR # |
2. I8 T, ST AT 3 STt I AeAy ufardi # # gran w8 |
3. T ABRIAT A T fI9q BT gt AT I § &<t fopan T 8 |

SRR # | -1/ HU W 2/E?
1. a1 3R 2
2. %I 2
3. %ae1 2 3R 3
4. ST 9t |

The correct answer is: 4

Solution:

IR : (d)
T

« I & gt oRidt FeTTRE # H10N3 TR Sequotl & HepRiv Aa b1 faed &1 g8
AT Gt fopa TR 8 |

* H10N3 IrIRY ‘THIUST § IR 61 [ SURBR 8, ST Is Tl T BRI e 2 |
SIS § IR S[AlTCdh Hh_Avl &, St OXl ORE & Ufardi ol qRHIAd ol € |

* Ig HIERR SFTelt Qi qReMedl # aran ST &, R R w9 | eRe 771, §<4, 3
STl T Terefty ueht wnfiet € |

« SRIP ALTUT TR b XU H A &b 1-4 37 18 s 39 g 2 € | 39 et § g,
RiReg, @i, Aiufml & g 9T HH M & | T8t 9 IR SU9R A B ot Raf §
Tg feifera, tRi%ergfes, Afogfes qom e SRt ey gaERTel &1 BRoT Wt a9
Jqehl & |
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T RBR STt It e wd € | ot ey (d) It SwR # |

Qs.

iRt dtg w1l & e #, FrfeRed weAl «R e FHifR-

1. 3 S TAe ST g9 9 Bl Il Skt o A2 R ueTel | St T off |
2. Tgt Rord stg afcfat v B Th-the aRmhe BT TRRfD SITERVT YRR BRel & |

SRl § e B el 2R
1. et 1
2. %ael 2
3. 1 3R 2 3

491982

The correct answer is: 3

Solution:

IR: (c)
e -

« YRTII qRTCRed F&qor = AR 31 RRRedt gaTet # < 3 il 1 @t &t & | J&t
feReet ditg T ot Reeret €, f57=8 disa o1+t & 4 | ST S & |

* BT BT GRIAT 30 e TR T g3 2; Blelifes, QRIAAAal bl A1 8 fob &
foRRedt TBTell [ °f & Fept € |

* 3 THI¢ Bt dlg el a1 v <er= <&t 8T | 9t rall & arme der fggeli & ford
faRne afiepR TR & H9 971 §U 2 | Prat I aTs [H13 & A [Hegal & &g & ford
frdy sreven & 2 |

« fORRe a1 uisd ot TIT 25 [HI BT T g 8, ST gRs) Tt 3901 §d 9 B eredt
S & 7 foRREH! URTS i St I ot |

* TH13T & URRIR BT a9 1823 H qReiRad fovar 47 o7 | I8 Uob 09,3718, SRfaTT el aen
e T R |

- 78t Reret dig Afcfal @ g Sg ot Y e oNoRT o1 RIATTRT R areft YR
RTeh-the AR T b [RRINh ISTERVI £ |

9 RER, HUF 1 3R 2 A 9E & | 3 faped (c) T TR
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Q4.

It < T IRTH e &1 93+ {9 TRE & 31edd & fordt fopam T 8-
1. A

2. TR

3. g
4. 9t

The correct answer is: 2

Solution:

IR (b)
qreEyT

o ‘M WRIATCa € U TeAfexe (NASA) 7 gedft & fFiaread TeiRft ‘R /e
31T & ford fdft g (DAVINCI+) der aResa(Veritas) e a1 Adifeds e @
=9 fopa 8 | 3 99 2028 & 2030 & Ay wited fopam S |

<t U &, S a9 1978 & 918 A YAx TRE &b AYASH H IWMRBI & ~Ied aTeAT Tgell
iR 2 |

* S AL A YR TRE D A1 AT A Bl FHSH b1 RART o smem | 591 faee
H S U RIS &R TRE & O JTAIaR0T | Bl oI G1 ST i dHell a2l
argHed # Suferd 1 Ud o Tl bt AT A |

« IReH AMe fAeE dH9 gRRIET, ST 159, SN, TUNRIB!, Ud TUFeIhidl &
et WY 8 | T8 TRE & PP 3hier &l FeiRa &= & ford TRe ot qaIg &1 Farem
TR X TAT Sk et & = faapr<T Heieht BRU l THg™ &1 RAT BT |

o AT (b) T SR 2 |

Q5.

<aieT & ey #, frfalad wemt R R #HiRA:
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1. I8 e Rae =1t § saferd T ¥ord avg 292 |
2. Ig ST, ST, Toe! qAT BN AlhdicRep TR o A1 HHHT AT =l ¢ |

ST & | DHH-1/ BT & 2/8?
1. et 1
2. B 2
3. 13k 2 3=t

4.9 1,982

The correct answer is: 3

Solution:
IR: (c)
ATET:

* GTST BRI TRT AT &R AT YT TBIehT o HTH TId UR TRe Rue =1et # @Rerd
Teh A TG ST 2 |

* D! AR fHTedt 8 | JaieT e, donf~r, gHet 3R BN AR ORI &
o1 YT TS el 2 |

« BT &1 § GRIY o ICRURT ST HBRIA = 98 1994 H gU il TRESR H BRi< B!
IfAehT & o & 717 8 | 39 ARNER § oM 8,00,000 &ART AR TN &, R iferapier
Tomeia g (Ethnic Tutsis) o |

T RER, FAF 1 3R 2 A1 & & | 3 faweq (c) G TR B |
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